# On a Riemann-Liouville Generalized Taylor's Formula* 

J. J. Trujillo

## JRE

ed by Elsevier - Publisher Connector

M. Rivero<br>Departamento de Matemática Fundamental, Universidad de La Laguna, ES-38271 La Laguna, Tenerife, Spain<br>E-mail: M R ivero@ull.es<br>and<br>B. Bonilla<br>Departamento de Análisis Matemática, Universidad de La Laguna, ES-38271 La Laguna, Tenerife, Spain<br>E-mail: BBonilla@ull.es<br>Submitted by H. M. Srivastava<br>Received A pril 30, 1998

In this paper, a generalized Taylor's formula of the kind

$$
f(x)=\sum_{j=0}^{n} a_{j}(x-a)^{(j+1) \alpha-1}+T_{n}(x),
$$

where $a_{j} \in \mathbb{R}, x>a, 0 \leq \alpha \leq 1$, is established. Such expression is precisely the classical Taylor's formula in the particular case $\alpha=1$. In addition, detailed expressions for $T_{n}(x)$ and $a_{j}$, involving the R iemann-Liouville fractional derivative, and some applications are also given. © 1999 A cademic Press

Key Words: G eneralized Taylor's formula, R iemann-Liouville operator, fractional calculus, fractional differential equations.

[^0]
## 1. INTRODUCTION

The ordinary Taylor's formula has been generalized by many authors. Riemann [6], had already written a formal version of the generalized Taylor's series:

$$
\begin{equation*}
f(x+h)=\sum_{m=-\infty}^{\infty} \frac{h^{m+r}}{\Gamma(m+r+1)}\left(D_{a}^{m+r} f\right)(x), \tag{1.1}
\end{equation*}
$$

where for $\alpha \leq 0, D_{a}^{\alpha} f(x)=I_{a}^{-\alpha} f(x)$ is the Riemann-Liouville fractional integral of order $-\alpha$. This fractional integral operator is defined for $\beta \in \mathbb{R}^{+}$, $a \in \mathbb{R}$ and $x>a$ as follows:

$$
\begin{equation*}
I_{a}^{\beta} f(x)=\frac{1}{\Gamma(\beta)} \int_{a}^{x}(x-t)^{\beta-1} f(t) d t \tag{1.2}
\end{equation*}
$$

and for $n \in N$ and $(n-1)<\alpha \leq n$ is $D_{a}^{\alpha} f(x)=D^{n} I_{a}^{n-\alpha} f(x)$, where $D$ denotes the classical derivative. M oreover, $I_{a}^{0} f(x)=f(x)$.

The proof of the validity of such an expansion for certain classes of functions was undertaken by H ardy [4], both for finite and infinite $a$.
A fterwards, Watanabe [8] obtained the following relation:

$$
\begin{equation*}
f(x)=\sum_{k=-m}^{n-1} \frac{\left(x-x_{0}\right)^{\alpha+k}}{\Gamma(\alpha+k+1)}\left(D_{a}^{\alpha+k} f\right)\left(x_{0}\right)+R_{n, m} \tag{1.3}
\end{equation*}
$$

with $m<\alpha, x>x_{0} \geq a$, and:

$$
R_{n, m}=\left(I_{x_{0}}^{\alpha+n} D_{a}^{\alpha+n} f\right)(x)+\frac{1}{\Gamma(\alpha-m)} \int_{a}^{x_{0}}(x-t)^{-\alpha-m-1}\left(D_{a}^{\alpha-m-1} f\right)(t) d t .
$$

On the other hand, a variant of the generalized Taylor's series was given by Dzherbashyan and Nersesyan [3]. For $f$ having all of the required continuous derivatives, they obtained:

$$
\begin{equation*}
f(x)=\sum_{k=0}^{m-1} \frac{\left(\mathrm{D}^{\left(\alpha_{k}\right)} f\right)(0)}{\Gamma\left(1+\alpha_{k}\right)} x^{\alpha_{k}}+\frac{1}{\Gamma\left(1+\alpha_{m}\right)} \int_{0}^{x}(x-t)^{\alpha_{m}-1}\left(\mathrm{D}^{\left(\alpha_{m}\right)} f\right)(t) d t . \tag{1.4}
\end{equation*}
$$

where $x>0, \alpha_{0}, \alpha_{1}, \ldots, \alpha_{m}$ is an increasing sequence of real numbers such that $0<\alpha_{k}-\alpha_{k-1} \leq 1, k=1, \ldots, m$ and $\mathrm{D}^{\left(\alpha_{k}\right)} f=I_{0}^{1-\left(\alpha_{k}-\alpha_{k-1}\right)} D_{0}^{1+\alpha_{k-1}} f$.

In this paper, under certain conditions for $f$ and $\alpha \in[0,1]$, the following generalized Taylor's formula:

$$
\begin{equation*}
f(x)=\sum_{j=0}^{n} \frac{c_{j}}{\Gamma((j+1) \alpha)}(x-a)^{(j+1) \alpha-1}+R_{n}(x, a) \tag{1.5}
\end{equation*}
$$

is obtained, with

$$
\begin{gathered}
R_{n}(x, a)=\frac{D_{a}^{(n+1) \alpha} f(\xi)}{\Gamma((n+1) \alpha+1)}(x-a)^{(n+1) \alpha}, \quad a \leq \xi \leq x \\
c_{j}=\Gamma(\alpha)\left[(x-a)^{1-\alpha} D_{a}^{j \alpha} f(x)\right]\left(a^{+}\right), \quad \forall j=0, \ldots, n
\end{gathered}
$$

and the sequential fractional derivative is denoted by

$$
\begin{equation*}
D_{a}^{n \alpha}=D_{a}^{\alpha} \cdots \stackrel{n}{n}_{\cdots} D_{a}^{\alpha}, \tag{1.6}
\end{equation*}
$$

where $n \in \mathbb{N}$, according to the definition introduced by Miller and Ross [5]. Also a generalized mean value theorem and some applications of above generalized Taylor's formula are given.

## 2. DEFINITIONS AND PROPERTIES

Let $\Omega$ be an real interval and $\alpha \in[0,1]$.
Definition 2.1. Let $f$ a Lebesgue measurable function in $\Omega, \alpha \in[0,1)$ and $x_{0} \in \Omega . f$ is called $\alpha$-continuous in $x_{0}$ if there exists $\lambda \in[0,1-\alpha)$ for which $g(x)=\left|x-x_{0}\right|^{\lambda} f(x)$ is a continuous function in $x_{0}$. M oreover, $f$ is called 1-continuous in $x_{0}$ if it is continuous in $x_{0}$.
As usualy it is said that " $f$ is a $\alpha$-continuous function on $\Omega$ if $f$ is $\alpha$-continuous for every $x$ in $\Omega$," and it is denoted:

$$
\mathrm{C}_{\alpha}(\Omega)=\{f \in F(\Omega): f \text { is } \alpha \text {-continuous in } \Omega\},
$$

and so $\mathrm{C}_{1}(\Omega)=\mathrm{C}(\Omega)$.
Definition 2.2. Let $a \in \Omega$. The function $f$ is called $a$-singular of order $\alpha$ if

$$
\lim _{x \rightarrow a} \frac{f(x)}{|x-a|^{\alpha-1}}=k<\infty \text { and } k \neq 0 .
$$

Let $\alpha \in \mathbb{R}^{+}, a \in \Omega, E$ an interval, $E \subset \Omega$, such that $a \leq x, \forall x \in E$. Then we write

$$
\begin{aligned}
{ }_{a}{ }_{\alpha}(E) & =\left\{f \in \mathrm{~F}(\Omega): I_{a}^{\alpha} f(x) \text { exists and it is finite } \forall x \in E\right\} \\
{ }_{a} \mathrm{D}_{\alpha}(E) & =\left\{f \in \mathrm{~F}(\Omega): D_{a}^{\alpha} f(x) \text { exists and it is finite } \forall x \in E\right\},
\end{aligned}
$$

where $F(\Omega)$ stands for the set of real functions of a single real variable with domain in $\Omega$.

Some properties of the R iemann-Liouville derivative and integral operators will be extensively used. They are collected in the next two propositions.

Proposition 2.1. Let $\alpha \in[0,1],[a, b] \subset \mathbb{R}$. Then
(i) If $f \in \mathrm{C}((a, b])$ and $f \in{ }_{a}{ }^{1}{ }_{\alpha}((a, b])$, then

$$
\begin{equation*}
D_{a}^{\alpha} I_{a}^{\alpha} f(x)=f(x), \quad \forall x \in(a, b] . \tag{2.1}
\end{equation*}
$$

(ii) If $f, D_{a}^{\alpha} f \in \mathrm{C}((a, b])$ and $D_{a}^{\alpha} f \in{ }_{a} \mathrm{I}_{\alpha}([a, b])$, then

$$
\begin{equation*}
I_{a}^{\alpha} D_{a}^{\alpha} f(x)=f(x)+k \frac{(x-a)^{\alpha-1}}{\Gamma(\alpha)}, \quad \forall x \in(a, b] \tag{2.2}
\end{equation*}
$$

where

$$
\begin{equation*}
k=-\Gamma(\alpha)\left[(x-a)^{1-\alpha} f(x)\right]\left(a^{+}\right)=-\left[I_{a}^{1-\alpha} f(x)\right]\left(a^{+}\right) \tag{2.3}
\end{equation*}
$$

Proof. (i) It follows from its corresponding ordinary case $(\alpha=1)$.
(ii) First, it is assumed that $I_{a}^{\alpha} D_{a}^{\alpha} f(x)=f(x)+\Psi(x)$, where $\Psi(x)$ is a suitable function. From this $D_{a}^{\alpha} \Psi(x)=0$ and then $\Psi(x)=k[(x-$ a) $\left.{ }^{\alpha-1} / \Gamma(\alpha)\right]$. Therefore

$$
\begin{aligned}
k & =-\Gamma(\alpha) \lim _{x \rightarrow a^{+}}\left[(x-a)^{1-\alpha}\left\{f(x)-I_{a}^{\alpha} D_{a}^{\alpha} f(x)\right\}\right] \\
& =-\Gamma(\alpha)\left[(x-a)^{1-\alpha} f(x)\right]\left(a^{+}\right)
\end{aligned}
$$

Proposition 2.2. Let $\alpha \in[0,1], m \in \mathbb{N}$ and $f$ a function. If one of the following conditions is satisfied,
(i) $f \in L(a, b)$ and $(m+1) \alpha \geq 1$.
(ii) $f \in \mathrm{C}_{\gamma}([a, b])$ with $0 \leq 1-(m+1) \alpha \leq \gamma \leq 1$.
(iii) $f \in \mathrm{C}_{\gamma}((a, b])$ with $0 \leq 1-(m+1) \alpha \leq \gamma \leq 1$ and it is $a$-singular of order $\alpha$,
then the relation:

$$
\begin{equation*}
I_{a}^{(m+1) \alpha} f(x)=I_{a}^{\alpha} I_{a}^{m \alpha} f(x)=I_{a}^{m \alpha} I_{a}^{\alpha} f(x), \forall x \in[a, b] \tag{2.4}
\end{equation*}
$$

holds true.
Proof. See Bonilla-Trujillo-R ivero [2] and Samko-Kilbas-M arichev [7].

## 3. A GENERALIZED MEAN VALUE THEOREM

Theorem 3.1. Let $\alpha \in[0,1]$ and $f \in \mathrm{C}((a, b])$ such that $D_{a}^{\alpha} f \in \mathrm{C}([a, b])$. Then

$$
\begin{equation*}
f(x)=\left[(x-a)^{1-\alpha} f(x)\right]\left(a^{+}\right)(x-a)^{\alpha-1}+D_{a}^{\alpha} f(\xi) \frac{(x-a)^{\alpha}}{\Gamma(\alpha+1)}, \quad \forall x \in(a, b] \tag{3.1}
\end{equation*}
$$

with $a \leq \xi \leq x$.

Proof. Since

$$
I_{a}^{\alpha} D_{a}^{\alpha} f(x)=\frac{1}{\Gamma(\alpha)} \int_{a}^{x}(x-t)^{\alpha-1} D_{a}^{\alpha} f(t) d t
$$

by using the integral mean value theorem, we have

$$
I_{a}^{\alpha} D_{a}^{\alpha} f(x)=D_{a}^{\alpha} f(\xi) \frac{(x-a)^{\alpha}}{\Gamma(\alpha+1)}
$$

where $a \leq \xi \leq x$. Now (3.1) is obtained from (2.2).

## Remark 3.1.

(i) If $b=a+h$ and $f \in \mathrm{C}((a, a+h])$ such that $D_{a}^{\alpha} f \in \mathrm{C}([a, a+h])$, then

$$
f(a+h)=\left[h^{1-\alpha} f(x)\right]\left(a^{+}\right) h^{\alpha-1}+D_{a}^{\alpha} f(\xi) \frac{h^{\alpha}}{\Gamma(\alpha+1)},
$$

with $a \leq \xi \leq a+h$.
(ii) If $f \in L(a, b)$ and $D_{a}^{\alpha} f \in \mathrm{C}([a, b])$ then (3.1) holds almost everywhere in $(a, b]$.
(iii) A nother variant of the above theorem can be given as follows:

$$
f(x)=\left[I_{a}^{1-\alpha} f(x)\right]\left(a^{+}\right)(x-a)^{\alpha-1}+D_{a}^{\alpha} f(\xi) \frac{(x-a)^{\alpha}}{\Gamma(\alpha+1)}, \quad \forall x \in(a, b]
$$

with $a \leq \xi \leq x$, under the same conditions for $f$ as those in Theorem 3.1.
Corollary 3.1. Let $\alpha \in[0,1]$ and $g \in \mathrm{C}((a, b])$ such that

$$
D_{a}^{\alpha}\left[(x-a)^{\alpha-1} g(x)\right] \in \mathbb{C}([a, b]) .
$$

Then

$$
\begin{equation*}
g(x)=g\left(a^{+}\right)+\frac{\left[D_{a}^{\alpha}\left((x-a)^{\alpha-1} g(x)\right)\right](\xi)}{\Gamma(\alpha+1)}(x-a), \quad \forall x \in(a, b] \tag{3.2}
\end{equation*}
$$

for some $\xi, a \leq \xi \leq x$.
Proof. The function $f(x)=(x-a)^{\alpha-1} g(x)$ satisfies the conditions of the above theorem. So

$$
f(x)=g\left(a^{+}\right)(x-a)^{\alpha-1}+\frac{\left[D_{a}^{\alpha}\left((x-a)^{\alpha-1} g(x)\right)\right](\xi)}{\Gamma(\alpha+1)}(x-a)^{\alpha}
$$

and (3.2) is obtained.

Corollary 3.2. Let $\alpha \in[0,1]$. Let $g$ be a continuous function on $(a, b]$, differentiable in the ordinary sense when $x>a$ and such that $D_{a}^{\alpha}\left[(x-a)^{\alpha-1} g(x)\right] \in \mathrm{C}([a, b])$. Then

$$
\begin{equation*}
D_{a}^{\alpha}\left((x-a)^{\alpha-1} g(x)\right)\left(a^{+}\right)=\Gamma(\alpha+1) D g\left(a^{+}\right) . \tag{3.3}
\end{equation*}
$$

Proof. A pplying the above theorem to the function $f(x)=(x-a)^{\alpha-1} g(x)$, we obtain

$$
\begin{aligned}
D_{a}^{\alpha} f(\xi) & =\frac{\Gamma(\alpha+1)}{(x-a)^{\alpha}}\left[f(x)-\left[(x-a)^{1-\alpha} f(x)\right]\left(a^{+}\right)(x-a)^{\alpha-1}\right] \\
& =\frac{\Gamma(\alpha+1)}{(x-a)}\left[g(x)-g\left(a^{+}\right)\right] .
\end{aligned}
$$

Now, (3.3) is obtained by taking limits when $x \rightarrow a^{+}$.
Corollary 3.3. Let $\alpha \in[0,1]$. Let $g$ be a continuous function on $(a, b]$ such that $g\left(a^{+}\right)=g(b)$ and

$$
D_{a}^{\alpha}\left[(x-a)^{\alpha-1} g(x)\right] \in \mathrm{C}([a, b]) .
$$

Then there exists $\xi, a \leq \xi \leq b$, such that $\left[D_{a}^{\alpha}(x-a)^{\alpha-1} g(x)\right](\xi)=0$.
Proof. It follows from Corollary 3.1.

## 4. A GENERALIZATION OF TAYLOR'S FORMULA

Proposition 4.1. Set $\alpha \in[0,1]$ and $m \in \mathbb{N}-\{0\}$. Let $f$ be a function such that
(i) $D_{a}^{m \alpha} f$ and $D_{a}^{(m+1) \alpha} f$ are continuous in $(a, b]$,
(ii) $D_{a}^{(m+1) \alpha} f \in_{a} \mathrm{I}_{\alpha}([a, b])$,
(iii) If $\alpha<1 / 2$ and $(m+1) \alpha<1$, then $D_{a}^{(m+1) \alpha} f$ is $\gamma$-continuous in a, with $1-(m+1) \alpha \leq \gamma \leq 1$, or $D_{a}^{(m+1) \alpha} f$ is $a$-singular of order $\alpha$. Then

$$
\begin{equation*}
I_{a}^{m \alpha} D_{a}^{m \alpha} f(x)-I_{a}^{(m+1) \alpha} D_{a}^{(m+1) \alpha} f(x)=c_{m} \frac{(x-a)^{(m+1) \alpha-1}}{\Gamma((m+1) \alpha)}, \quad \forall x \in(a, b] . \tag{4.1}
\end{equation*}
$$

where $c_{m}=\Gamma(\alpha)\left[(x-a)^{1-\alpha} D_{a}^{m \alpha} f(x)\right]\left(a^{+}\right)=I_{a}^{1-\alpha} D_{a}^{m \alpha} f\left(a^{+}\right)$.
If $m=0$, and $f$ is a continuous function such that $D_{a}^{\alpha} f \in \mathrm{C}((a, b])$ and $D_{a}^{\alpha} f \in{ }_{a}{ }^{1}([a, b])$ then, (4.1) also holds.

Proof. For $m=0$ see Samko-K ilbas-M arichev [7]. For $m>0$, we find from (2.4) that

$$
I_{a}^{m \alpha} D_{a}^{m \alpha} f-I_{a}^{(m+1) \alpha} D_{a}^{(m+1) \alpha} f=I_{a}^{m \alpha} D_{a}^{m \alpha} f-I_{a}^{m \alpha}\left[I_{a}^{\alpha} D_{a}^{\alpha}\right] D_{a}^{m \alpha} f .
$$

Now (4.1) follows from (1.6), (2.1) and (2.2).
Theorem 4.1. Set $\alpha \in[0,1], n \in \mathbb{N}$. Let $f$ be a continuous function in $(a, b]$ satisfying the following conditions:
(i) $\forall j=1, \ldots, n, D_{a}^{j \alpha} f \in \mathrm{C}((a, b])$ and $D_{a}^{j \alpha} f \in{ }_{a} \mathrm{I}_{\alpha}([a, b])$.
(ii) $D_{a}^{(n+1) \alpha} f$ is continuous on $[a, b]$.
(iii) If $\alpha<1 / 2$ then, for each $j \in N, 1 \leq j \leq n$, such that $(j+1) \alpha<1$, $D_{a}^{(j+1) \alpha} f(x)$ is $\gamma$-continuous in $x=a$ for some $\gamma, 1-(j+1) \alpha \leq \gamma \leq 1$, or $a$-singular of order $\alpha$.

Then, $\forall x \in(a, b]$,

$$
\begin{equation*}
f(x)=\sum_{j=0}^{n} \frac{c_{j}(x-a)^{(j+1) \alpha-1}}{\Gamma((j+1) \alpha)}+R_{n}(x, a), \tag{4.2}
\end{equation*}
$$

with

$$
\begin{equation*}
R_{n}(x, a)=\frac{D_{a}^{(n+1) \alpha} f(\xi)}{\Gamma((n+1) \alpha+1)}(x-a)^{(n+1) \alpha}, \quad a \leq \xi \leq x \tag{4.3}
\end{equation*}
$$

and for each $j \in N, 0 \leq j \leq n$,

$$
\begin{equation*}
c_{j}=\Gamma(\alpha)\left[(x-a)^{1-\alpha} D_{a}^{j \alpha} f(x)\right]\left(a^{+}\right)=I_{a}^{1-\alpha} D_{a}^{j \alpha} f\left(a^{+}\right) \tag{4.4}
\end{equation*}
$$

Proof. By using (4.1), for $j=0, \ldots, n$, it follows that

$$
f(x)=\sum_{j=0}^{n} \frac{c_{j}(x-a)^{(j+1) \alpha-1}}{\Gamma((j+1) \alpha)}+I_{a}^{(n+1) \alpha} D_{a}^{(n+1) \alpha} f(x) .
$$

A pplying the integral mean value theorem, we have

$$
\begin{aligned}
I_{a}^{(n+1) \alpha} D_{a}^{(n+1) \alpha} f(x) & =\frac{1}{\Gamma(\alpha(n+1))} \int_{a}^{x}(x-t)^{(n+1) \alpha-1} D_{a}^{(n+1) \alpha} f(t) d t \\
& =D_{a}^{(n+1) \alpha} f(\xi) \int_{a}^{x}(x-t)^{(n+1) \alpha-1} d t \\
& =D_{a}^{(n+1) \alpha} f(\xi) \frac{(x-a)^{(n+1) \alpha}}{\Gamma((n+1) \alpha+1)}
\end{aligned}
$$

with $a \leq \xi \leq x$, and so (4.2) is obtained.

Corollary 4.1. Set $\alpha \in[0,1]$ and $n \in \mathbb{N}$. Let $g$ be a continuous function on ( $a, b]$ such that the function

$$
f(x)=(x-a)^{\alpha-1} g(x)
$$

satisfies the conditions of the above theorem. Then, $\forall x \in(a, b]$,

$$
\begin{equation*}
g(x)=\sum_{j=0}^{n} \frac{c_{j}(x-a)^{j \alpha}}{\Gamma((j+1) \alpha)}+R_{n}^{\prime}(x, a) \tag{4.5}
\end{equation*}
$$

with

$$
R_{n}^{\prime}(x, a)=\frac{\left[D_{a}^{(n+1) \alpha}(x-a)^{\alpha-1} g(x)\right](\xi)}{\Gamma((n+1) \alpha+1)}(x-a)^{n \alpha+1}, \quad a \leq \xi \leq x
$$

and where

$$
\begin{aligned}
c_{j} & =\Gamma(\alpha)\left[(x-a)^{1-\alpha} D_{a}^{j \alpha}(x-a)^{\alpha-1} g(x)\right]\left(a^{+}\right) \\
& =\left[I_{a}^{1-\alpha} D_{a}^{j \alpha}(x-a)^{\alpha-1} g(x)\right]\left(a^{+}\right)
\end{aligned}
$$

for each $j \in N, 1 \leq j \leq n$.
Proof. It follows from the above theorem.
Remark 4.1. In a natural way, all functions $f(x)$ satisfying the conditions of Theorem 4.1 could be expanded in a generalized Taylor's series as follows:

$$
\begin{equation*}
f(x)=(x-a)^{\alpha-1} \sum_{j=0}^{\infty} \frac{c_{j}(x-a)^{j \alpha}}{\Gamma((j+1) \alpha)} \tag{4.6}
\end{equation*}
$$

with $c_{j}$ given above, holds for all $x \in(a, b]$, where the series converges and

$$
\lim _{n \rightarrow \infty} R_{n}(x, a)=0
$$

The functions which can be expanded as in (4.6) will be called $\alpha$-analytic in $x=a$.

## 5. APPLICATIONS

1. Let us consider the fractional differential equation:

$$
\begin{equation*}
D_{0}^{\alpha} y(x)=\lambda y(x) \tag{5.1}
\end{equation*}
$$

where $0<\alpha \leq 1, \lambda$ a real number and $x>0$.
It is assumed that $\mathrm{y}(\mathrm{x})$ is 0 -singular of order $\alpha$, and continuous $\forall x>0$.

Since $D_{0}^{j \alpha} y(x)=\lambda^{j} y(x), \forall j \in \mathbb{N}$, and $\forall x>0$,

$$
\lim _{j \rightarrow \infty} \frac{x^{(j+1) \alpha}}{\Gamma((j+1) \alpha+1)}=0 .
$$

We obtain

$$
y(x)=\sum_{j=0}^{\infty} c_{j} \frac{x^{(j+1) \alpha-1}}{\Gamma((j+1) \alpha)},
$$

where $c_{0}=\Gamma(\alpha)\left[x^{1-\alpha} y(x)\right]\left(0^{+}\right), c_{j}=\lambda^{j} c_{0}$.
Then

$$
y(x)=c_{0} x^{\alpha-1} \sum_{j=0}^{\infty} \frac{\lambda^{j} x^{j \alpha}}{\Gamma((j+1) \alpha)}
$$

which converges $\forall x>0$.
If it is assumed that

$$
\lim _{x \rightarrow 0^{+}}\left(x^{1-\alpha} y(x)\right)=\frac{1}{\Gamma(\alpha)},
$$

it may define the $\alpha$-exponential function:

$$
\begin{equation*}
e_{\alpha}^{\lambda x}=x^{\alpha-1} \sum_{j=0}^{\infty} \lambda^{j} \frac{x^{j \alpha}}{\Gamma((j+1) \alpha)}=x^{\alpha-1} E_{\alpha, \alpha}\left(\lambda x^{\alpha}\right) \tag{5.2}
\end{equation*}
$$

where $E_{\alpha, \beta}(z)$ is the Mittag-L effler function.
The general solution of (5.1) is then, $y(x)=k e_{\alpha}^{\lambda x}$.
2. Let us consider now the fractional differential equation

$$
\begin{equation*}
D_{0}^{2 \alpha} y(x)=-y(x) \tag{5.3}
\end{equation*}
$$

with $0<\alpha \leq 1, x>0$ and $D_{0}^{2} \alpha=D_{0}^{\alpha} D_{0}^{\alpha}$ [see (1.6)].
A ssuming that $y(x)$ is 0 -singular of order $\alpha$ and continuous $\forall x>0$, then $\forall n \in \mathbb{N}$,

$$
\begin{aligned}
D_{0}^{4 n \alpha} y(x) & =y(x), D_{0}^{(4 n+1) \alpha} y(x)=D_{0}^{\alpha} y(x), D_{0}^{(4 n+2) \alpha} y(x)=-y(x), \\
D_{0}^{(4 n+3) \alpha} y(x) & =-D_{0}^{\alpha} y(x)
\end{aligned}
$$

and using the generalized Taylor's formula, we obtain

$$
\begin{equation*}
y(x)=c_{0} x^{\alpha-1} \sum_{n=0}^{\infty}(-1)^{n} \frac{x^{2 n \alpha}}{\Gamma((2 n+1) \alpha)}+c_{1} x^{\alpha-1} \sum_{n=0}^{\infty}(-1)^{n} \frac{x^{(2 n+1) \alpha}}{\Gamma((2 n+2) \alpha)} . \tag{5.4}
\end{equation*}
$$

(A ) If it is assumed that

$$
\left[x^{1-\alpha} y(x)\right]\left(0^{+}\right)=0 \quad \text { and } \quad\left[x^{1-\alpha} D_{0}^{\alpha} y(x)\right]\left(0^{+}\right)=\frac{1}{\Gamma(\alpha)}
$$

it may define,

$$
\begin{equation*}
\sin _{\alpha}(x)=x^{\alpha-1} \sum_{n=0}^{\infty}(-1)^{n} \frac{x^{(2 n+1) \alpha}}{\Gamma((2 n+2) \alpha)}=x^{2 \alpha-1} E_{2 \alpha, 2 \alpha}\left(-x^{2 \alpha}\right) \tag{5.5}
\end{equation*}
$$

which converges $\forall x>0$.
(B) If it is assumed that

$$
\left[x^{1-\alpha} y(x)\right]\left(0^{+}\right)=\frac{1}{\Gamma(\alpha)} \text { and }\left[x^{1-\alpha} D_{0}^{\alpha} y(x)\right]\left(0^{+}\right)=0
$$

it may similarly define:

$$
\begin{equation*}
\cos _{\alpha}(x)=x^{\alpha-1} \sum_{n=0}^{\infty}(-1)^{n} \frac{x^{2 n \alpha}}{\Gamma((2 n+1) \alpha)}=x^{\alpha-1} E_{2 \alpha, \alpha}\left(-x^{2 \alpha}\right) \tag{5.6}
\end{equation*}
$$

which converges $\forall x>0$.
The general solution of (5.2) is $y(x)=c_{0} \sin _{\alpha}(x)+c_{1} \cos _{\alpha}(x)$.
The above functions satisfy the following relations:

$$
\sin _{\alpha}(x)=\frac{e_{\alpha}^{i x}-e_{\alpha}^{-i x}}{2 i}, \cos _{\alpha}(x)=\frac{e_{\alpha}^{i x}+e_{\alpha}^{-i x}}{2}
$$

and

$$
e_{\alpha}^{i x}=\cos _{\alpha}(x)+i \sin _{\alpha}(x), \sin _{\alpha}^{2}(x)+\cos _{\alpha}^{2}(x)=e_{\alpha}^{i x} e_{\alpha}^{-i x}
$$

just as in the ordinary case, where $i$ is the complex imaginary unit ( $i^{2}=-1$ ), using the notation of Euler, and $e_{\alpha}^{\lambda x}$ is the natural extension of (5.2) to complex values of $\lambda$.

## ACKNOWLEDGEMENTS

The authors would like to thank Professor H. M. Srivastava and R. Srivastava for their valuable ideas when to work in this subject was started, and also Professor A. A. Kilbas for his interesting comments about the preprint.

## REFERENCES

1. J. M. Barret, Differential equations of non-integer order, Canad. J. Math. 6 (1954), 529541.
2. B. Bonilla, J. J. Trujillo, and M. Rivero, On fractional order continuity, integrability and derivability of real functions, in "Transform M ethods and Special Functions" (Varna, 1996), SCT Publishers, Singapore, 1998, 48-55.
3. M.M.Dzherbashyan and A.B. Nersesyan, The criterion of the expansion of the functions to the Dirichlet series, Izv. Akad. Nauk Armyan. SSR Ser. Fiz-Mat. Nauk 11, n. 5 (1958), 85-108.
4. G. H. H ardy, Riemann's form of Taylor's series, J. London Math. Soc. 20, (1945), 48-57.
5. K. S. Miller and B. Ross, "An introduction to the fractional calculus and fractional differential equations," Wiley, N ew York, 1993.
6. B. Riemann, Versuch einer allgemeinen auffasung der integration und differentiation, Gesammelte Math. Werke und Wissenchafticher. Leipzig: Teubner (1876), 331-344.
7. S. G. Samko, A . A . Kilbas, and O. I. M arichev, "Fractional integrals and derivatives. Theory and applications," Gordon and Breach, Reading, 1993.
8. Y. Watanabe, On some properties of fractional powers of linear operators, Proc. Japan Acad. 37 (1961), 273-275.

[^0]:    * Paper partially supported by DGICYT and by DGUI of G.A.CC.

